A farmer plants 80 lettuces, but 12 of them are eaten
by rabbits.
How many lettuces are left?
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A field has 75 black and white cows and 36 brown cows.
How many more black and white cows are there than
brown cows?
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There are 83 sheep in a field. 44 of them are adults.
How many are lambs?
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Farmer Brown needs 85 metres of fencing but he only
has 57 metres. How much more does he need to buy?
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Farmer Jones's cows produced 31 litres of milk

yesterday. 17 litres were in the morning. How many

were in the afternoon?
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Farmer Tan used to have 63 cows, but he sold 28 of
them. How many does he have now?
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Alice wants to have 90 hens. She has 67 so far. How
many more hens does she need to buy?
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Alice collects 76 eggs from his hens but she falls over
and breaks 24 of them. How many eggs are not broken?
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Farmer Stubbs gave 86 apples to his 28 pigs but they
only ate 69 of them. How many were not eaten?
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There were 92 bales of hay in the barn, then Farmer
Clements took 64 of them out. 45 bales were for the

cows and 19 for the sheep. How many bales are still in
the barn?
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There are 45 children on a bus. 26 of them are girls.
How many are boys?

©Comstock Images (Getty Images 78431005)




There were 61 buses at the bus station in the morning.
Then 46 of them left. How many were still at the bus
station?




A company sold 93 tickets for its trip to the seaside, but
36 people didn't turn up. How many people went on
the trip?
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There are 43 cars and 28 motorbikes on the ferry. How
many vehicles are there in total?
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A train ticket normally costs £79 but is reduced by £15.

How much does it cost now?
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Billy cycled 15 miles in the morning and 27 miles in the
afternoon. How far did he cycle altogether?
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A bicycle shop has 75 bicycles to hire. How many are
left after 47 have been hired?
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43 people got on a boat at the start of its journey. At
the first stop 28 people get off and nobody got on. How
many people were on the boat?
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